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TPAVNH NN SY NIPNY KT IX L 9Y DY DY NN NN £ IINN OX 77120 DIPIMIN DO N
G N9won Y20 ;1 9901 TN I NINY N, MINWN IN VPN 13D NIN DNYN DY OX N DIPININD
t=G(t1,...,tn) W I t1,..., T, DNV MO

SV NP RD IR L YSY TPMLR DNDN NN NN ¢ MINKD DX PTIAN OIPIMON O»P A
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GO 9’91V NAMN N NI KY NIATHN DAY DTV D957 NDNN Y NPMIIZN-YTN MSWAN SN O
DOINONN DMIPN-IT NYW NI M 0, 1 DR My 0,1 DPYWN DM~ PN Y1p DY
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MY NP NN DWPN DD S¥ MIYNYNN 127 DIRDND PN DY HNRN M2 NN WP YO I
DXNNIN JY MYNYND IR IR DX INN 13207 THR MIANK D712 DX NI MNYN NPNY 102
¢ A D9Wa YN DXTNON JY MYNYNN 23 IR D) N, MNNDNN Y TNNRD W NXR P WNRD
NI DDV 293 DAINWHM DINIAPN NNY NI NI .NNINN HY DO KD JIN ,PIDY) 12 MDD
A(R) mvnwn ymy L navs ooxnnn A Mian oNNN 519 DYDY NIYN M Y Mmynwnn 9vo
;73290 2"y NIV DMYHRYN > M DY DIWIAPY DORINP NRY NDON NN NN Navn Hw R wiap o5
VIOV VWD TRN NIANDN 72¥NI NI PR IMWYNY TN NINN DI DX YR MNUN NN 7D DX
NN LAYN DIIM VX IWNI HYNY D7 DN NPOW DN L NOWY »a0 Mt ;0ov12 PN
DTV 922 1NN 1PNT N NNINY VAYNHN MTYN

GUNRD 1PN NYNIP TIWHYN PR VX DINVND DINVNN Y MIYHYNN NOXWA N2 199y Ny
DNV BV JWNY 5O10I INIIY 29D IPYIR MYNYN 0N NN TN JAN 00N M Sy 017110
nows NN+ N9wan yiap Hv 1 M9onn XN 1 OowNn yapn v 7vn oMeonn nma 1+ 1
7OM x + 1 »vaa Pam Ny .2 v, 1 + 1 990n0 X 14 1 »0an ov 7N P9+ NN
MNONN TIW W Y OOIN,DMDN TIY Y 11N PR DMYIVN DMIDO0NN NIANY NI IOW TIWN NN MNP
MY 2awa 8 M5 7+ 1 x4 15 7w > 7 TN AR X-2 1) DX SWNY X-9 ¥apw Twa
A = (A, 1) namy md pr7a 0o ONY TNNN MYPNN YNnY) L Y omunn 935 ooy
L 9w oynpn 999 o099y mn) 1 mospnan
DOINYNN N¥IP NN DOINTIV s TPNPNA NN A-1 (assignment) MWD N8I A >DD DD 8.19
A DR DN 9w
DY VX L SW ¢ 08y OW 555 L-5 oxnm nian A >n now LHonn 08y DY DY Twn N1 8.20
P 99 PY T ¢ DNYN DY NN 9Y MOMPIL s mawna A mana ¢ v val(A, s, t) TIvn X
val(A,s,c) =c Lo cown
val(A, s,x) = s(X) x nmwn a5
t1,. ...ty OSY T H omipn-n n5wa y»o 935

val(A, s, H(t1, ..., t,)) = HA(val(A, s,t1), ..., val(A, s, t,)) (1)

DY SV TIWN 7292 NNYNN Y'Y MINYN SV TIVM |, 7252 NINN 'Y NI OUINR Y1 HY TINY v
INYNL ON NN D) MN9N NOWI MNP DINUN H91IN DNY

A2 nem 9w val(A, s, t) TIvN 20t DIYN DY DY iPNPYITYNI NN KX DNIN 821

TIWN 2D NIYON TN OIPNI MDA NDI  DINWN 291 1PN DX WMIP DY DY XIjp) DXy DY 2
DX NN ,$ NNYNA N9 IPN ¢ Y11 DNY oV Sv val(A, s, t)

y-91 2 TN 1IN X-9 THNNN NBYN) D»¥I01 DM901BN MmN xo (Y + 1) 5¢ Tvn NN awn) NoYT
DY27NNN DX MNY 93 9Y D3N TN 2Wn Xo (y + 1) D¥yn 0w nps NN 1w .3 79N 1IN
NN X, Y =2 1) s NNUnN .1 99000 XNY TN DX 1OWwrD 1aps my A nann DNy nvy in
ymp NN Famvny +1=+(y, 1) 810299 .y + 1 5w 7990 1IN 2WN) YD NNKRNNA 2, 3 O3
WND 4+ TN TR -5 M0 M N3 o»yavn oMaonn 5w N xnn 7y FN-5 yaps vy nowa
PNYD NYD 3+ 1 =4 NNy + 150 79N (1) 299 199 .0»¥a0N OI90NN T NINN NI NN +
N9WaN Y17 Y9¢ Mynwnn xo (y 4+ 1) 5¢ 750 2N v y + 1 991 x 9¢ 09N 1IN 120 oYY
2-4 =8N xo(y+ 1) 5 75N 1Y .0»Ya0on DMaDN1 - 59570 N9 N MIABN 'Y NI ©
TW AR OPTID WX L 5 ¢ pnow 999 L-9 oonmm man A om now L onn 1D I 8.22
TPNPND NN DI YIDY >7 val -2 DWHRNIVN PN HPYTI s nwn A nyana ¢ b val(A, s, ¢) TR
DOYTY NN 2D 0ID DI 792 PN JAN , MNNDNN JYW FNND TIY TPNPN NN ON DNV MDY W TN
INDM N DY O, PDY DY NONY NV 29D 121711 7PPN9 WNKA

N9 IPn-n OM YO NN R AR R(t1, . . ., t,) NI¥D DOV NN IN TPDILVN INDN NN ¢ DX N
M"Y TN NNONN SV

val(A, s,R(t1, ... tn)) = RA(val(A, s,t1), ..., val(A, s, t,)) (2)
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o N0 RA A mvn val(A, s, 1), ..., val(A, s, t,) € A > Dy DY 9¢ TIvn MIHNL WK
N T N val(A, s, R(t1, ..., t,)) -9 1000 2)-w TN P A by mipn-n
TINNDNY AWND ,NDVN NPY HY 7PONPI 1T INODN YW INRD T 1995 ¢ oMy
JIPYTI NN PONPIN 29N 'R-2 TINRD T TIX TN IPMLND
IN IO OMPN IT WP 0 WNRD ¢ = o) DX A

val(A, s, ¢ox) = to(val(A, s, ¥), val(A, s, X)) (3)
N ¢ = DN )

val(A, s, 7)) = t-(val(A, s, 1)) (4)

TIOND 7Y W INIAPY PRI IPUNT DT 1900 TW TN DINDN DAPN NTIV 299
N o0 f(Y) ness f NN My v M 1701 wnnwd vovne L F < T -w 72 mmon
AWNNNY Y01 ,g(y) = a -¥ 799 V19 g(z) = f(z) NN x Y9 f DINND NINNY g PPN

fy) Twa
IN WY MINVN X IWND ¢ = VXe) DX T
val(A, s, ¥xip) = min {val (A,s(X),v) |a € A} (5)

N NYID MINWN X IWND ¢ = Ixt) ON

val(A, s, 3x¢) = max {val (A, s(%),¢) |a € A} (6)

22102, FIX T 920 70K T NN ¢ YW TN 2 ¢ DNDNN NPY HY TPNDITINRI NNY NN
JNRD NITHN IR YA
IR TIY RN FPMLX DNDN DI DY TN D Y0 N0 710 N
Y27 W Dy R > on val(A, s, x) -1 val(A, s, 1) TINYTIRD 1ININ 299 IR ¢ = Yoy DX A
TWNIN @ = P A x DX, JUN7 1IN T NN IR Lo INND M2 NN (3)-2 DY DN WN NN
D)) P D) DON TPIPHN ¢ MDD, x-) Y JW DIWN OY A DY LA TINN MY NOYaN 'y 5apmn ¢ DYV
JIIPHN x
D) TN M TW Yy - Noyan R 7 XD val(A, s, ¢) MYTPRN NN 299 IN ¢ = ) DN )
R 7w NN val(A, s, b)) Dy @) 299 191 IR TIY NN
1991 NN 2T NN SY DM NN (5) JW P> PN .(5) M"Y YIAPI ¢ DY TWN IN ¢ = VX DN T
DN TIY D) 1200 NN

"X 999" -2 WND ") DPPIN X 999"-3 VX) IR OONNP NN .(5) NITINN NN 7N NNY NN
TPIPNN 1) DX 172D DX NN IPIPHN VX NNONN OX 1YT2 273 199 A DY 9K 999 NN NN
DD U9 AR DO DX X-2 IR P IIPIPNHR NN P9 DPA MR X HY A-1 ©97wN 5 My
O22PN -1 DIYNIPM 5"y ONY DITPIN DXIIWN TN D721 -1 DINVIN ITPY TV a DPIWIND
DN NN DINWHN INYIY TV @ TIVN IX X-2 DN PX 790 A 'y DNY DImIn 9w NN
TN TN MDWN 939 TIMIN s(3) NNWNL DWNRIWN DX T2 DYY 15 'Y DN DIPIN DXIIWN NN
val (A, s(%), 1) D990 TR DPTI PR PY -3 YNNI ¥API X JY TIWNY T97 VI3 s Y'Y 12 PN
5721 A-2 R Y X 9997 PNDRNY Y2730 PIAD IR TNX DN YN DIWN VI DX a € A Y3
A3 TOINIR DPN 71 X 939" INONNY M12PY PIAD IN PV KN PN DWW TN NING DYDY DX
TIN 1990 NN NAPN DOX T XN NNN 29V NN SV DMOPIN I (5)-1 IWYYY NN PYTA M .s-2)
N (5)-9 9w mon F

Val(-A, s,Vu@ZJ) = { ;_ val ('A" 8(2)71/]) =TacA 73;.‘?2 (7)
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YDV AN NN NNIZ INY NP NI 2D (5)-2 WHNYNY NITYN INNN NITHIN
NNDNL NIV NI IRV DNPPY DIRG9 -W T0 X O”P" RNP X IXyP DNOWN NN 1N
»y o) val(A, s, Ixyh) IR PTIND FPIY NI VXY

val(A, s, Ix) = { T val(A,s(%),v) =T -wTac Ao»pbN ®)

F NN
T PN 0990 N¥Mpn DoR T X0 TNK 99 NP S DIDDPN I (6)-7 NAPY NN NN
PONPN NIHNN NP0 DA T DIPN HY MIATTIVNN 29N NNY NTY DOV v 8.23
val (A, (%), 1) 90 ©27wn m val(A, s, Ixe)) -1 val(A, s, Vxep) S D7D IR DIAVHN (6)- (5)
NI 22 IINY NITINA 0D XN A ) DY TINRD 2N DaAvNn Jxy S VX S INRD 29y 90
val(A, s, VX)) DW TN IR AWND T3 73 01279 IPN $ TING TINWY (6)-) (5) DY DYTT¥N 2V Wamn
a € Avval (A, s(}),v) 20 D3N IR YT PN RN val(A, 5,10) D¢ TIWN TN VT2 T NI
N NNV T8N NN valfun(A, ¢) -1 1903 MO NI DVTIN NN PYTI N IR T
99 val(A, s, @) NI N9 NN s YN 999 N A-1 L-9 mnwinn 93 nsnap

valfun(A, ¢)(s) = val(A, s, ¢)

DN 6)-) 5) % M1 valfun(A, @) MEPNAN NN ¢ NPY HY PONPIA DPTHID NRY NN
owny 5w 7Ivn WK valfun(A, ) 7 valfun(A, Ixy) I valfun(A, Vxy) nx awnd 785
oY D9IYN D) NOXR s My valfun(A, ) Yv TN M P73 XY avnn s My valfun(A, Vxy))
(%) mwnn v MmNk mnwn My valfun(A, )
7NN N O»yavn ©0M90NN NINA PIDYI NINA NNDY Y TIY ANSN DY IONT 8.24

INUKI D900 NN Z-YW TPDONILVPN NIND 1 < x AVy(Fz(yozraXx) —y~1Vy=rX)

PONPIA MITINN .5 NNYNA INT NINDNI DMVIAN JY D¥IIWN NN AYNN w-2 YN s DY 2NN

AON DYDY 2PN XD NYYI 101 ,0°52101 9N DMIDAY DDV INY DMV NOTN DYV DY
val(N;...) ©an y N ypon nx vrey N N1ana 0wy XD DN 5o Nron

val(s,z) = s(z) -1, val(s,y) = s(y) ,val(s,x) = s(x) MNVYN SV TWN NITHIN 290 N
val(s,1) = 1N =1 YN VAP DY TN MITIN 97 A
val(s,y 0 z) = oN(val(s,y), val(s, z)) (1)297 3
val(s,y 0z) = s(y) - 5(2) Na91 oN = . -y o
val(s,y ~ x) =~N (val(s,y), val(s, X)) )99 1
val(s,y ~ x) = { T sly) =s(x) on N 99 N o 8N A - wom

F NINN

T s(y)=10or : ,

1 ~1)= 199 - 2.
val(s,y ) {F INK 21,17 M1 D
val(s, 1 < x) =<N (val(s, 1), val(s, x)) (2299 )
val(s,1 < x) = { T 1<s(x)ox 111’8991 < Y1on oY 8N <N -w oM

F ™MNN
val(s,y 0z ~ x) =N (val(s,y o z), val(s, x)) (2)297 1
val(s,y 0z & x) = { T s(y)-o(z) = s(x) BN -1 N 599 MMA O NN AN -w wom
F NINK
val(s,y =& 1 Vy=x)=ty(val(s,y = 1), val(s,y = X)) TIND NI 295 N
val(s,y ~ 1 Vy=~x) = { Z__ s(y) = s(x) Waly) —]_1]_‘22 £y TN ' T 29
val(s,3z(y oz ~ x)) = max {val(s(?),yoz~ x) | n € w} 6) 297 L
val(s,Jz(yoz = X)) =T D MN I
val(s(?),yozmx) =T -¥ 9 1 € w DYP DON
W s(2) (u) = s(u) O z-n MWD U MWD 9991 5(2) () =1 % M s MY (%) 1-1 %) DR

79 .s(X) I 29 s(y) DOR MDD ,s(y) - n = $(X) -¥ TIn € w D DOX T NN '0-2 INDY PN



2003 MNNT 10 NPPLINDY PN - DOPN DYNN N P10 38

APty

val(s,3z(yoz = x)) = { Z__ s(x) N PoNn 3(}2.]2:: 7
FTMIND NOTIN 290 D

val(s,Jz(yozrX) »y~1Vyrx)=t_(val(s,Iz(yoz = x)),val(s,y = 1 Vy=x))
val(s,3z(yozrax) myx~1Vy=xx)= T PIYTHM 'V NN
_J T sly)=sx)-wixo(y) =1-wXs(x) DN Pom IvN s(y) ON

F NN
val(s,Vy(z(yoz~x) my~1Vy=Xx)) = (5) 299 N»

= min{val(s()),Jz(yozrx) my=1Vy~x)|mew}
220 s()) (x) = s(x) -1 s(Y) (y) = m 2 0m s ©pm s()) oy ,»-1 nny wpne

:{T m=s(X) -WINm=1-YIN s(X) IR PIMIPN m m € w Y97 DX
F INN
M
:{T m = s(x) W m = 1IN s(X) DX P9 m ON m € w 939 BN
F NINN
M
_ { T 5(x) -m 1-n ©wn DpPonn s(x) -9 PR DX
F NINN
val(s,1 < xAVy(Jz(yozrx) »y~1Vyxx))= TIND NN 295 2™

=ta(val(s,1 < x,val(s,Vy(Fz(yozrx) >y~ 1Vy=Xx))

_ { T s(x) -m 1-n 0N oponn s(x) -2 PRy s(x) > 1 DN £A TN N 1599

F NN
_ { T >»wNI 1901 s(X) DN oo
F NINN

Z-¥Y PDORWIN NMNRN 1 < xAVYy(Fz(yoz = x) =y~ 1V y=Xx) DOV PRI T2
790N XN $(X) DOX s MWNA N 0»y¥a0n DMI90NN NN THIPHN DIIN NN INYNRT 190N KN
INUND

9901 XN - A0 1Y IMN TINN DX NNTND IPINND NOYA NIAND PRIV NPT IPYY NN
SN IMONNY N AR DINIX DNNRD NINT ANDNY MHINT 2T NT INPY NIV T2 NN INUYXI
DTN DNYINN NPMYAY 1O DY NPNNON NI 7PN NIYW 2T MWD R DA IR NIV NINDD

INAD PYNNL YINON 5IND ONPPONNNN N¥ONN 022101 DOINND DMNVAT DPVNIN
If you think your paper is vacuous

Use the first order predicate calculus

Then it becomes logic

And as if by magic

The obvious is hailed as miraculous

YA 20PN WIAND DYTY PRY NN NN DOMYN YN NIV AN NPN NNIVNY YWITN 2wWn PO

NPT NOY NN NN DOMYN DYNT SY TPONNN NOYN NITINA NNIVN NOPNN TPVLIND

-NHNN DXTRNN NAY DN DAY DY TN NN WHNVND >TD .DPOVNNN D751 ﬁﬁpﬁ7 I NIMNRY 2N

DO YNNI MIXNDND NYIAND DXIFNI PN DXTONN VX NYTD 1IY DTN DX NI My O»Y

-HHN OTPN Y ONIND TIT NN .M2IPNNN MNNDNN JY DMON YTR7 PP D) NN DIIPYN
INAD PP RD XY DVINN IRY THIND 7D DY NIWN DIONN YN Y MNNDND D10

DTN .DOYNND DI9DN DY NN PIDYN DY INVNY IWAN XD DVIY IRY D 1IN

N NITIN N2AWA K9 TN PN DN 1 —523 + Tz — 13 -1 22 + 3z — 2 nvypnonv
TNDN PY> DMPSIHT 2D NPYENNN IRYD DIPNIN P NMININN NN DY 2IWNY NN 09N HWn
PP INYY OPN 5 DY MINONT NNIN D) N P9 PEPNY ONOT MDYP PRY MY MW
TINY DRI DWYNY DD, DYNN DY N02a0 MO DY DYIN NN N¥Y »TD DO YNNI Wand
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D212 RPN DN D271 P2 DOHN YNNI YANY DY 1IN DMN D27 OIMX P2 NINANN 7N
IWARY IIPYPND P TPMYNYND NINAN NIY DIDIPND 220V DY )9 DY 5P .t YNNI Wwano
MM MoV DINPND Y"Y 27 IWNNT IWIARY NSNS PAT 3 > NoVHn DD JWNT PONnD
TNON NN 295 INDZ D51 NN DPIDN DDYUNT YW TIRNDN 'Y AN DI XY 7D NN O) 9
INNONN SV
N NG DY IPYONA DIV NI ONONN PYDA N2 TY IPYYY NN Y DM NION DRAWIN NINIAN 8.25
NIPN NI N NN 722 DYPNN DX NN NTAW 2D ,03¢W90 P2 NINANA DNON MNP NRID
DNON DOMN YN JY 8.22 NN NITIN .NIIYY IRNDN DY NNUYRIN NIP¥NNIY TY 5531 1M
DWW NS 7)) N 7PN N MDY NNAYY NNHDN Y DOWOUN NNV PP0I0 'Y MDA INURID
NN HYIN 220 PNV D99N NN 0 NINY DIWN NIX MSYYID WNan NINY

NPYMD MITOY DAIIPD DN 1°22IY DAY 17 NNM NPNDN Y DPNDMN DAY VAN INRM
NN DAN VAN PN DXVINHDN DX NN N ) DY DXAININ OIPO DN WK YU 7171 .00 HY
WD) OYT NPNY DOD1PN DMOLPTIN MNDIY DINTI NIV TSN NOY P2 MWD JPRY NPDXD MTaY
D257 DPVPTIND MNJWN T¥IPN NNN B2 NI TN DXPYY N (OMIDNN MY 12 Z2 NTYN
NV FPDVNILIND NN ONPID NN N8P JY DIDN MW DO DNNY NNIAPN
NX TP DPRDN DAY YOI DY N N9 Y73 NIN X YN DIOVINN M0 SV ONvP
PR DN NPND DRNND O PO NHR N7 MRV NV INMD3 07NN PA WY VDD O
D»DAN DMIVPN NN PAND T 1Y DIND D991 DY DN NN, NI WND DIRHN NYWI YD
.DMONN YOPINN DY WPNA DXNNION NN PIANT THN

MNVYI TRHD NN IND PPN, NIRNY DNWN OHIWINT NIY JPWNR INIMI NNY NPNDI9 M)
NRY DIYN N DNNY MDA DNMP DPVDITIND NN NIN TPODINVIIN NYNIN ION L) DY
AN ITIN PN MNSW 5Y DNYP INTN DPPA NIN YD DPPA IND 92T RO 121D .ONPoY DMI2TNH
P2 PNHIANT 2T IO N T O”P5 >T3 P IIRDN NOYA DIVUNTIVN DX NV NIV NOR IPN
DOUNNN DAYV NN TPVDIINNN YLD NONDY TP TIIN TPNNPN NYMN .DNYY MNY MoN
WNI TN NPY NZDID NN MY PR NN DY NOWN 79 IR DOPY NN 79 ROX 575 ©0») DN
DUND V) 50 DN PRY TNNDY ONPIVITIND MDD Y SYNHPN DN PRI MNSW 1D jPnTa
ANINN SY PUPTIIN OIWN 7PN DIPPY TIOY NXIN DONPN O"Y MPIVDINDD NPT NANY NNY MM
NN DVAYN JY TPINND NIIWN 79 X XTHN-NONN 0NN

IDN AW — DIPYA WPHN YD SVPTIN DY ,NOYN — PINNY DOWVINN VDY TInn
oY T HLPNNN BN NX YN XN 2D [ TH> DNINRD DIPPINN MY INX NIV 8.16-1 NITHINY
NITPN OWN RIN DD INTIP NOWN 1D NYIDNVYNY DIV RI NN IPYY DU P w1 wWpn
DY INYNY 2T NOY NININD DIMPRNNN DNY MINTYA NN PIDY) NN TN MINNAY 200N
9N 222592 P37 HNRNN BY TN TN NI 7P M B2 So¥ PTY MmN
DYNIN PN DINPVPTIN P2 POTIN PTA D9WN 2257 NAYN 229D PA PHIANY I 2WN
NON NAYN NNATN POY SVPTINN OWN SV = TN PAT NOYN S X MNWVN P2 MANP DDV
IUNIY DIPFTIND >IN0 NI NN DIV NON NIWN NIPN NINANNY DIWN MIPN NN NINAN-IND
NININ OPPJ TRV 1WN ,Nj7PNT DXTIT DX IWRI NN A9WA NN NND >INDY NN z DY OIATN
N T 00 LW NN NINY TINT VYD N9 1PN TN WIDN 920V 299) , 172 TN 19N XY
NN POPTINN DYWN 22557 NAYN 22237 P2 IV ,DPIWN PA PHANY YTD DY) DT 91 Wov
NAYN 22537 TIN 2R NPPLPTINA S2PHRN 22X NNPDA NPIMN YVPTNN OIWN 2397 NN OANMD
A >omnn oown Yv R yon = 10 FL.G RS, Xy, z, u 00w o2 IvmNa 0amd PX
D220 PN IND 2D 7+ y 2INDI XY IMPN YT YW IO NN -+ OX 19WN S OWIK MInUN YN X-)
DY NINW X + Yy 2I19) DN NOWN YW P90 XY + N9wan 10 By A BN YV 2, y DIDND NN
019010 01 0,1,2 2,y DMV JY NDNN NWD NOYAN NN 2 + y 2N D) ,Navn DY ONY
DI VISV 12 D8y DY XN 2411998 3 990nn Xn 2+ 1 .oymp on 0,1, 2 -y o190nn B9wn

DOYIPN PA NN NMINAN DIPNAD NN P2 NNV NN NN OFPION DMIPN YPPON MiNIN 8.26
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DY NAYA Yo HONDI .DMDN NN DINDN YN DXYNIPY D7D MIN PIAT NAYN DY DOYIND
PO WND (R, -, 1) NMann XN AR NI DORTNN TN N3N .1 3P o mpn-y1n nowan o
- 9957 N2W NPRIN 0 NJWAN YPOY , R DOYNND D1I901N NP NN MWW MIANN NN )00 M
NN G WRY (G, -, 1) RN TN NOYY ©NNNN YW M .1 79000 RN 1 MapHh orwonn by
NN DTN NNILVN NN -1 MPIVNN S35 NWA NN -, DPWANN SY 3 X 3 MYIVHN NP
TNVNN NOW NN + ,DMOWUN DM900N NP NN Z 11 (Z, +,0) NN NINY DAY DIRNNDN MY
TN ON 1 ypnyy NNN N IR JION 0 PPONIY M O IR N .0 1900 N0 0-1 Z Dy
(2109 793 PN 7aN ,0 190”0

NN NI NOYA PN SUND DYNIP Y'Y DINDN NIANN MDN PN VP 90N P9 99O TIT]
995 NNN NN DINODNN o-) -+ BN NYWHN AP NN NOYA TV 2ava 595 172 DURNUN
v 1-51 0-2 77 NTWN MK YO0 7o .1 0 NTYN MR DX 090nonn 1 0 on oD oynapm
NN OPYNNN NTY X DNP2IPNIN NTY NN 121TH 12 NTYN DN )0 Iy I .0N7 DIINNIND OOWIAP
NDD DNY MY M15) DN DNY MNY SY DD DYIAPNNN NTYN JYW DN I3 DY DIONON
oY DYIYD DYAPNNN DMPYILN DMIADNN PYTA ON YN DIDN IN (DINVN
DNYID DY DY MY SY DXI7yD ©93pmn PN DX o19om ,0,1,14+1, (1+1)+1,. ..
1-21 0-2 997 XY NTYUN N 990 702 MDD NN "Lz 7307 VX MYNHND  DIDIN DN IWND
DNOIM NN " ..z OPP,IX MYNHRD DN DX IWND |10 1D .DM»YILN DMIDNT P K 1D9N)
A0 90N GN N 1 N 0 IPNY 595 PN PR Mt -1 WO NN N OPPNN DTV YO © OOPY
Rial7w)
NN SY ©X1590 12 VR NIRY DIPIDON YNNI NYNA MANI DN DY SV TN NN 8.27
1N MANNY DX9WN DN YR DX MY 7.3 VOV NN @ PIDS HY NNRD T IR DV
-1 DNYN MNYY DN DAY NN NORY DONIW DX .¢-1 ©wann Py, ..., P, o»71on Doad
DYAP NNDYNN DY MIANN HY D222 I IPN DINIY DX NI TYRDI DO YN JY MIXND
NI RO DMYT PN NIWNN TIVN DY NIANN NYOYND IWNI DINDLN N DY OV 5S¢ TIvD NN
I NANNY D993 77 79N A N3a0na ¢ NNO HYN £ DY DV YW TN — DX}IDON YN 11D
N7 D) NN NIDN NINDN JY L DNV DY DY TN DY NNUNN TIVOWN .¢-2) t-1 DWamn DIPY
S TUNNA DA NTN NP 192301 NN TPYII INDN S INRD T 2Y DNYaYN Yax ,imT
A ooy N oya on A’ A-vw 70 -5 oxnn oan Ay A v 0Ny DY ¢ 0N 8.28
t-2 wamn G mipn-n N9WA MR 935 I ,¢-1 DIWANN DMIPY DY DN DINVN OM
999w 79 A-9 Imwn -1 s nonn A = A op t-a wamn cown ynp v G = GA orp
W8 (X) = s(X) DYP t-2 Wamn NN

val(A',s',t) = val(A, s, t) 9)

DWW DINYND) DIVIAPY DIN NHYNN NIRNY DXV 79 N0T DYY DY DY TNV IIN M
n

' = A vawnn NNIN 9Y X COWR YIP KN ¢ DX £ DYYN DY IPY 9y DSTYNG NN
M val(A, s, t) = val(A, s,c) = A D»P DYV DY DY TN NN 295% NP

@ 9apmm val(A, s,t) = val(A’, s,c) = A’

95,1 < i < n Yo DN IV by, ..ty ) IPR-n NOWA VAP G wNo ¢ = G(t,...,t,) DX
Y LAWNN TININ ¢; DXYN DY 2239 TINM{D 1991 £-1 D) WM ;-2 WM PN M Y1) NHI Wap
1 <4 < n 935 [ NPYIPRD DNN 290 0P

val(A', 8 t;) = val(A, s, t;) (10)
D»j7 DNY DY DY TN NN 297

val(A, s,t) = GA(val(A, s, t1),...,val(A, s, t,))

/ (11)
val(A',s',t) = G (val(A', ', 1), ..., val(A', s, 1,))
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P OBN D1 IR 19 ,GA = GA vawnn MNIN 95 1Y t-1 wam G NYwan ¥yRpY NYon
(9) LAYIN THPDH NP DMWY DN (11) TY HNNY AN D) 19 DWW DN (1) YW

N N2 A DoY o Pnvbs NNTO N A NN DNNUN HY MNNDm NPV Mmyan 8.29
¢ MNNDL PN A Y 9T0 DM XN ,<-2 WD ,<HMPNR-1Tn DR < MPR-YTN O ¥Iap
TN

3700 o 0oN val( A, s,¢) = T » M1 WxVy(Xx <y — Jz(x < ZAz <y)) DNOMN NN ¢ N
val(A, s, ) M Mipma 199 LA S¢ NWYD TN RN A YW DMIDN YW 99 Pa DX M 9NN XN <
S MNWNA 592 M7N WX

nom val(A, s, ¢) P9 ,s(X) < s(y) oor val(A,s,¢) = T » M1 X <y DhOW NN ¢ A
Y-21 X-2 7 s-v s(y) - s(x) 022

A MR 0w s(x) < s(y) oor val(A,s,¢) = T» M2 Tz(x < zAz <y) DNONN NN ¢ )
NN TN $(Z) -2 791 IR AR s(Y) -21 s(X) -2 n9m val(A, s, ¢) 199 .s(y) -1 s(X) P2 DRI
DMDN TN YY NI IV G-¥ NN s(z) -2 79N WK val(A, s, ¢) -¥ 799 NON s YV NI
M VDY DNYWID DIDND DNPNNT NY IWANDD NY MINWNID Z-2 HYNTIVN N7 KON Z-1 ¥21001
2 Y T2 R b-) a YW D91 77 "9 DWY [ f 22dz M21 2-1 YIPYY SINY T Z MINWN
@ 2V TINDON MNYN XN Z D DINN NN TPNINN ¢ NNOVN SV NIPHNI NY NINYND 12 WHvn 2 D
$ YV DPYAIN DINWN BN y-) X 1PN

Y, X N12Y S DNYNN 229 M0 IR ¢ W TNRN TW .2 Z XA JZ(X < ZAZ <y) DNORD NN ¢ T
s(x) P2 DY DIVR OO s(X) < s(y) ,s(Z) # s(X) MWNRI I PPTA TPIPNR NN ¢ 2D ,Z-)
TIA 5(z) -2 791 Z % X 2370 JY INRD TIWY IR ¢ Y HNRD TIY 2N 2NN DY) OX .s(y) -2
WAWM Z MINWNNY NIN NI NNPY N .5(Z) -2 MM N Jz(X < Z Az < y) 2999 YW NNND T
NINY N 270 DMDN TN PON Z Z Z X D71 DWW DTPPINI NNDNI DNV Mmjpna
NI RIN DMDN IVX JPON IN Z Fz(X < Z A Z < Y) 2372 IR X Y'Y II0NN TDRD Y DY
DN DPPON WA MINVHD MK DY M Yy A Jv DRV DRI ONNND INDNY IWAND
DN WNNWND PTYI TR DYDY DUNRTIVA DX JN2 MINXNDN NN IPN ONTN NN NN
MNWN Y9 N2 N ¢ MWW PYTa NIWNYNY z £ X A Ju(X < U A u < y) 1 DNoM ¢-1
@ NN DAY YN DYIHNNI DIID NP >TD Ty NIY PPN XY AN 7293 TNX PPN wovn
.DOMN UNN JY PIANHN NN NI DTN 102D YN D97 0 ,ANDN N

YUAIN NINWNA KIPI X NV YR ,NNDNA SWIINN NINWNRN IWIN S TPONND NN W Ny
DNONA TPYON NYHIN 1Y ¥ DN NNDM

NPT ¢ 9Y PONPI NI ¢ INODNA PYANN NMITIVN INNJ X TINWN J¥ NNONN N NI 8.30
£ DSV TNWNI TNNA WM X DX ¢-2 00N X N R(t1, ..., ¢,) TPMON DNDN ¢ DX

)-2OUN RN ONX ¢-21OWAN X IN ¢ = 1) DN

XF2OUNN X -2 N XN DN -2 OWMN X IN ¢ = Yoy BN

D=2 UM N X N ¢ = Qxp ON

2D-2WN NN ONX (-1 WAN X IN X-1D NHWN MINWN XN u-) ¢ = Quy BN

P02 NRIPI DOVYN DINWN K57 NNON A

oy1pn My A »mva A Sv oowa P3N ¢ Dnom Y val(A, s, @) TRD Ty 0own 8.31
onn on A, A’ OX ,pPT DY ¢-1 DPUIINN DINWHIN MY s NPYNN 1WA -1 DOWIMN
MY N 8, 8'-1 ¢-1 DWAMN DIYIAPY DIWN DINX DX DININ GMUN A DY Y1 -9 DPONNIN

val(A', ¢, p) = val(A, s, $) N ¢-1 DPYINN DINWNY DN DMN NN NN

7701 NN NN NN DY ¢ NN JY NNRD TIY JY MONNY N SNDNN DIVHN NN
DY MIAIY ,NNRYNN DY DINK DIV 101 NI ¢ I DOWINN DINYND TN NRYNNY D9yl
9D ,PIDA NN ¢ DN ,TNPNI .H-2 DIWIN DIPNRY ¢ YW DONMDN DINYN DIMND 1IN NDYNNY
A iana 3 om N 1Una 999 01 IR ¢ S TINND TIY N, DOVON DINVYN DY PN DN
onn on A’ A oz A(¢) -2 on val(A, ¢) -2 ¢ D¢ IHIRD TIY NX 2N ¢ P10 MY IO
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HA(¢) = A(g) DP2 IR ¢ 71095 D2 LAYHRN TMININ NN DV
O OY TPNPYTPNA HNOW
JOND DTN 28D AN OSY TNV ¢, ...,y Y O WP R-w o0 0 = R(t, ..., t,) DX

val(A, s,¢) = RA(val(A, s, t1), ..., val(A, s, tn))
val(A', s, ¢) = RV (val(A', ', t1), ..., val(A', s, t,))

x oM A'-1 AL, 0aunn 1NN 295 1991 ¢-1 D) AWM WM £;-1 Wamn y1ap 9,1 < i < n b
299 1991, AWM NITIN 299 ,¢-2 SWON NIN £;-2 WD X MINVN Y7 191 M Y1ajpY D¥IIWN ONMN
TIN»P DY DV Y TIVN TIT Y ,8.28 LAVN HYW MNINN YV IR T3 .5 (X) = s(X) ,LAWHBN PININ
G2 wam R-w ywon 1 < i < n 9 val(A', ¢, t;) = val(A, s, ;) O LAWY IMN 99 t; 995
D) PO DN 21) YW P 29K DPRINN DY WK T2 .RA = RA vawnn nnin 299 19
NN LAY IO DNY IRNDY >N

D) W91 1;-2 WAMN MY Y i = 1,2 MY ¢ = YP10th2 12 MPN1A 979903 WP Y'Y N91PTN ¢ BN
239 DM 191 -2 SWHIN NINWN DI XIN 10;-1 XWAIN MINVN 59 SWAIN NINWNN WD DITIN 299 -1
val(A, ' ;) = val(A, s,1;) i = 1,2 9y , 09 SPITYRD DN 289 P9 .0awnn NN ¥;
O 9% DNRN M2 NYYaN 'Y LAYHRN NIV NYAPTN RIN

TOND T TN 299 N ¢ = Yuy DN

val(A, s, ¢) = min {Val (A, s(Y),v) ‘ a € A}
val(A', s, $) = min {val (A, s'(4),¥) |ac A}

(12)

(13)

D MDY VIAVYNN MYV NN 73|77 T22) , 0V (31)-2 IMIPIVN A P2 29NV MM 27D
val (.A, s(;) , w) = val (.A', s’ (2) , w) (14)

P MY MDMP MVYTN THNINN DX ITAZ 199Y 199 1) MNIAY NI LAYNN TPNPITIRN NNIN 2991 NN
A-3 7 MN D270 RN ,09WNRN NN 29D 190 ¢-1 D) WA -2 WamN Y 95 .s(;) YNM
LAYNRN TNIN 29D DM 19 H-2 HWAN DI NI U-H NN NI -2 W90 XN X mnwn 95 A’-13
SU)x) =a=5")x) wx=uoN s(1)(x) = s(x) = sx) = () (x) W s(x) = s (x)
MY LIYHN TN VNN (14 O PN s(1) MYNM ¥ MY LaVHPN MNIN OYP TR VNN T2
@ = Yuyp ppnn

max NNPY ¥ (13)-2Y PN 972 ¢ = Yuyd My mo prTa XN )N IX ¢ = Juy DX
Jnin Opm
A-9 s nnwn 995w oY » 1o A E ¢ oamo ux A man Sv nowa nnon NN ¢ DX 1 8.32
N T IPNY DY IRNPY PR DY TN IN 2103 NN ¢ DN D M1 138 WD val(A, s, ¢) = T o»p
S5 TNWNIA "MoN

PY ¢ YV DOYANN DINWNIN MY s HY DWW 91 YN val(A, s, @) YY TIm 1N
T2 ¢ YV DOYWIAINN DINMWNN MNIY PO WY OT N9 s INYNN X M DI DTN PPN

Y1 val (fl, (Xl X1> ,qﬁ) MDY 99N X1, ..., X, YAV ON ¢ HY DOYINN DINVHIN YD DN

Q1 5oy G

WPND,NIENTN a1, .., G DIWDTINXY, . . . , X, DINWNID TITDN PPN NN <X1 v X ) -v

a1 ey Gn

A1y ..oy Gy DIWN DN XL, ..., Xy -2 TINNN ONYID NNRYN IR NINT 7P8192 DXON»NN MX PN
DPMYNYN DPR DINND DINWND 71PN



